1

A0 F AL RARERIEFRE

06 (20244) FE1H 248

AOANDOMEREEIZDLNT

AEARKEB (BATZROBAREZAONDIER G
BB ETOHEZRE 1B 188 DA 5 (A) = &
328,402 12 328,414
2 BRBIEIR. EMEFIZEIT AHREHR(A—T T 2B 450
BIEETOEREE 1B 188 a5k (B) =1 E
331,843 19 331,862
O#FHEOOF DA AREEMRAEZ OISR (18 18H)
AR S
minz (R {2 R st |maw| st | &%t
won | g | wee | g | mER | e | e | o | kg | AS | x=
1 FE 10 0 0 0 0 0 0 0 0 0 0 10 12 12 22
2 FEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
+q 3 EERERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&l 4 THHETHT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
5 ZDih 2 0 0 0 0 0 0 0 0 0 0 2 0 0 2
it 12 0 0 0 0 0 0 0 0 0 0 A 12 12 12 24
1 ADhDSHMERESTEICHET
| mmEmmms o | °) 9 9 9 9 ) 9 % 9 ° ° ' 019
e 1snomn. mm. w0 3 o o o o o o o o o o 3 2 2 5
@
&t 12 0 0 0 0 0 0 0 0 0 0 12 12 12 24




